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S=n=T o el 35 ) dema (35 R (8 a2S 40 2ana (3355 028 60 2enl 535 IS 1Y
A) 2:3 B) 3:4 C) 5:6 D)4:3

Sx2-0 3 oSl 4 gial) Apusil

5° 20 100 5 i )
A) 80% B) 60% C) 40% D) 20%

s 3l ) 0y 2000 <SS 13 A8 0e 15% S0 8335 e dele Joas
2000 + 2000 X = = 2000 + 300

A) 2015 B) 2150 C) 2300 D) 2200
2=2 >5r=40x=2=8 @ X had i Alie 5410, x  dae Y sy
A) 20 B) 14 C) 40 D)8

== =600 Aelall 845K Lo Jare gl clelu 8 L3 4WIS 4800 s (i) (S 13
A) el /ALK 400 B) il ALK 500 C) =LA 600 D) 4elull /K 700

3640000 — 900 36000 o120 Jsall adle ame die e disiod) Jlall 585 lska
A) 36 B) 360 C) 90 D) 900

A<l e Aa gl el B Al cuall 0Ky W1 1Y)

a1 1 .. (1 A2
A) 2t (5) B e (5) 0 =i (3) D) &4 (5)
£ = 9000, x = 40 x 9000 = 360000 s ahaall (8 Jy 9,000 & L @laal QU S 5 S 13)
A) 320,000 B) 340,000 C) 350,000 D) 360,000

250—250x%=250—50=200 Ol ..o sp aeadll xy Lgiad ()l 20% Aty anad Gllia (4S5 by 250 dais (33

A) 500 B) 220 C) 200 D) 50

MATH 111 sec. 2.4



